AFM NC FINAL EXAM REVIEW NAME: [\
RELEASED ITEMS /TEST QUESTIONS 2 DATE: ; BLOCK:

1 The table below shows the probability distribution of the number of televisicns in 0\0%
each house in a community. O\d(
Televisions | Probability ()\ .,JQ S > \D
0 10.04 & ‘\%N
2 10.27 ) LS
3 X % 73\'{[ 0
4 Y
5 or more _Q-‘Ez ]

What is the probability that a house in the community will have at least
3 televisions?
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2 Anna and Zach each have'$600 to invest. Anna’s investments earn a rate of_
10.5%, and Zach’s investments earn a |rate of 6. 5% Approximately, (how muc@
&j\ ‘more money will Anna have than Zach)when Zach'’s investments are worth $900?,
Assume continuous compoundin A
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3 A solutions pH is given by the functlon p(t) = -—log (t), where t is the frydrormst ion
concentration, in moles per liter. As sample of coffee has a pH of 5.5. What is the

approximate hydronium ion concentration of the sample? X eaek fea R
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4 A sequence is shown below.

1, 0.1, 0.01, 0.001, 0.0001, . ..

\L\

What is the sum of the sequence? Y= aq . O \ \ \[,\
- R 0-
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] Which statement is true about the sequence shown below?

0, 4.5, 12, 22.5, . . .
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B——The series cenverges because the limit of the sequence as n approaches
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The series dlverges because the limit of the sequence as n approaches
infinity is infinity.
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6 A pharmaceutical company is creating a new cholesterol drug to prevent heart
disease. The company must collect data by testing the drug before it is approved.
Which would be the best method of data collection?

A experimental study) {57 | €
B observational-study | 3 o
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7 The table below shows the midterm and final exam grades of ten students.
w? :

Midterm 68 | 78 | 92| 90|88 | 82| 94| 83| 71| 62

‘(\Q'i? | Final Exam | 62 | 77 | 99 | 87 | 85| 84 | 95| 98 | 72 | 64

go Which comparison between the midterm grades and the final exam grades is true?

A The final exam grades have a hlgher mean and standard deviation than the
~.___midterm grades.

B The final exam grades have a lower mean and standard deviation than the
midterm grades.

c The final exam grades have a higher mean and a lower standard deviation
than the midterm grades.

D The final exam grades have a lower mean and a higher standard deviation
than the midterm grades.

8 A baseball team scored the following number of runs in ltS games this season:

wants to end the season W|th an average of at least 6 runs per gam what is the
least number of runs the team must score in the final game of the season?
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9 If the probability of giving birth to a boy is 0.52, what is the approximate
probability of giving birth to four consecutive boys?

A 0.021 ?‘Lbﬁ\ﬁ) -~ 0.5
B 0.062
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10

11

12

__How many_ more. ways can 10 juniors running for the positions of president,

vice president, secretary, and treasurer be selected when compared to
12 sophomores running for 5 ldentical p05|t|ons of class representatlve'«’ P@m\(\t:\mﬁ

R
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A starting line for a hockey team should consist of 3 offensive players 2 defengwe

players, and u&ﬁé‘ﬁif@ A coach has 11 offe m
and-2 goaltenders;from which to choose the starting line. How many unique starting

lines"can the coach create? (1, \ji NV @ Ordex DoeS WYL motor

A 132 \\QS. Uca.QQ\

- P S

It costs a bakery'$f3,50‘, to make apple pies that sell for{éié;the first day they are
baked.

= If a pie is not sold on the first day, the new price is $8.50.

* The probability of selling the apple pie the first day is 75%.

* There is a 12% probability of selling it on the second day.

* If the apple pie does not sell by the end of the second day, it is donated.

What is the approximate expected profit per pie for the bakery on the sale of its

apple pies? o )( w \)(
P =y doy 3 \ e bV,Q A
C $9.57 ,5.6() - §.90

D  $10.02
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13 The number of household members, X, living in Cityville homes has the following

probability distribution: Paban S'RF
% 1 2 = 4 5 6 7 8 4— Puct el flnjr—
P(x) | 0.21 | 0.28 | 0.16 | 0.22 | 0.06 | 0.04 | 0.02 | 0.014 f« o (3
What is the expected size of a household in Cityville? P
A 243 E\/-X\*Xa”"\'55 1
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14  What is the middle term for the expansmn of (x + 3WMW,W oy Y 18 O\'\gm
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15 Abby took an 8-question multiple-choice‘quiZ. Suppose that her probability of

ectly answering any question is 0.75. What is Abby’s probability of incorrectly
answerlng exactly two questlons on the quiz?

0.9 s for Cerrectly answeriny »rm}mhdm
ince T kow W T gng & w4, T st have
%H’U\ (e rla)vﬂ'

b\v\ompd«(l( Ovﬁ o) = 05\

0.1%)
). %)3 (s —15\4- 170-C6N

A wron A/O IB?’;
|l  Which function results by shn‘tmg the E}r‘é‘gﬁﬁof P = ﬁl(x +§5‘3b6 to the left 4 units
and down 3 units.

A P = 0.089

LB Fehk+R -9, W= Y4 ’ =0 v
C y=Ih(x+7)-3 al :n:./f“: ,J":"‘
D =In(x—1) -3 . o =
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17 Which p1ecew1se function is graphe;ggelow?
== s N y
—2x -7 or x<-—5" ' I S

A fx)= é (x-r’g\)z-rG‘/]{or—5<x<0/ 5 e
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/ = 2x—7 \ for| \=zZ /5
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18 The function, f(x), is shown below?

%tz‘(:wz\of \‘3 Qd Ord?j x _ 4 fOT'
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19 AE_ *r‘msr*r):s iocated 410 feet from a bmldmg From a wmdow in the building, it is
observed th=t the angle of elevation to the top of the tower is 42 degrees and

the zngle of d=pression to the bottom of the tower is 25 degrees. Approximately
how t2ll is the water tower? e

4an 4A° = .ﬁ,
A 191 feet ,yr‘-gkﬁm—
B 369 feet Lan &5° - %
C 448 feet Y% |a\ &
=3 A\

= 50 £t
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20 Given the table below:

; i ® i 3w 5t | 3w
x = —_— T — i

i 2 4 4 2

y ie5] 0 |—05| 0 |05

o e (py- ©) ¥
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T
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21 A Ferris wheel has a diameter of 80 feet. Riders enter the Ferris wheel at its lowest

point, 5 feet above the ground, at time t = 0 seconds. One complete rotation takes

65 seconds.

Which function models a rider’s verti'i;jal height, h(t), at t seconds?

A h(t) = —80cos(Zt)+5 e =0

= —olUcos | — =+ i
T o ws (B (0)) +45
— (ryess hik)~ w§ w5 _
h(t) = —40cos|=—t} + 45 )
(B Mo=esG)rs ) L@ = -40 con ©0) ++
65. % | an _
C k() =—45cos(Sc) + 45 hnE)=5
65.% . an
D h(t) = —5cos (Z_r*-_’; + Bu
22  How does the graph Gfg(x)zpu.gcos(Zforom the graph of its parent functions,

(x) = cos(x), over the interval -z <x <m? AN X O
6 ‘The arhplifude is smaller, and the period is shéo-rté; J7 i o4

B The amplitude is smaller, and the perioa is longer. , 1 /
—C __The amplitude is larger, and the period-is-shorter. - 3
[} The amph.tﬂé.e_fs_}a,Fg- i er _and-the pepigd is [Qnge;, ” 9
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23  Two sides of a triangle measure 14 ft and 17 T, respectlvely The included angle is
72¢ Approximately how long is the third side cf the trla"lgle‘?

A 18.4 ft % .’\';. g .‘/1‘ \A ‘,«:‘ ok ,_.jlf“n; .-“: ‘; V4D i

h 5 g e Y
B 20.3 ft g R q’;\ - '% l) 10U | |
c 251f sl \ :

| A | N "\:’.
D 30.% ft | Y M i) NN
24 In a geometric sequence, a, = 12 and r =+/2. What the approximate sum of the first ~
20 terms of the sequence? 54 Hr\\ (—o(WlU\\O\ elause ¥ isa £inike Rritd ¢
ts Q)mg\b at 26 Fervms. 20
= 1 (\ v 5 -
—£—29,624.9

< D 29,636.9 )

25 A bathroom floor has tiles arranged in 9 circles. The innermost circle contains
O tiles. Each successive circle contains 9 more tiles than the previous circle. How
many total tiles are on the bathroom floor?

A 81

B 396

C 405

D 729
Add e volee
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CONSTRUCTED RESPONSE

1 The table below shows the estimated average hours each person in a city spent
playing video games in different years.
Years . A0
since , Hours L ‘e\ﬁ( Sh
2002 U 1 e \¢
0 7.1 chr
i 80 v
2 82 ‘
3 78 a Q\b’\ >
4 80 o >
6 107 X
Z 121 WA
8 125 4N
9 131
10 142
* Write an equation for the best fit exponential model for the data.
, s [
* What is the meaning of the base of the model in the context of the problem?
- ! _‘r - ¥ Ay AR AGAY
* What is the meaning of the coefficient of the model in the context of the problem?

Numbey oF Tpws P Tathial # zj
o hows gy
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2

3

Students are told that attending class regularly will help improve their scores in

that class. Below are the scores for students who did attend class regulariy and
scores for those who did not.

Attended Class Regularly Did Not Attend Class Regularly
241 261 271 282 296 185 195 195 228
243 262 272 284 296 250 256 225 261
254 267 278 292 308 274 277 308 233
252 264 276 290 310

med= &M% ¥ =214.45 med = g4l.0 T =a40.5%33

Which group of students has a larger mean score and by how much?

Which group of students has a larger median score and by how much?

~ A A e &

Write an equation for the power function, in y = ax® form, that passes through the
points (2, 1) and (5, 6).

Use your power function to predict the value of y when x = 9.
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